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myF : -  KO vz;fspy; fzpjr; nra;iffs; (,uz;lhk; thuk;) 

ghlNtisfspd; vz;zpf;if  :  10 

 

KO vz; xd;iw kw;WnkhU KO vz; xd;why; ngUf;Fjy; njhlu;ghf ghlg;Gj;jfj;jpy;  
32> 33 Mk; gf;fq;fis ed;whff; fw;Wf;nfhs;sTk;;.  

 

 fPNo fhl;lg;gl;Ls;s ngUf;fy; ml;ltizia epug;Gf.   

x 0 1 2 3 4 5 6 7 8 9 10 11 12 

0 0 0 0 0 0 0 0 0 0 0 0 0 0 

1    3          

2    6          

3 0 3 6 9 12 15 18 21 24 27 30 33 36 

4    12          

5    15          

6    18          

7    21          

8    24          

9    27          

10    30          

11    33          

12    36          

 

 

khfhzf; fy;tpj; jpizf;fsk;> rgufKt – thuhe;jg; ghlrhiy 

 

ghlk;   : fzpjk; 

 

juk; : 6 thuk;  : 5 



 

 m/sir 

ngUf;fy; ml;ltizia cgNahfpj;J ,ilntspfSf;Fg; nghUj;jkhd 
ngWkhdq;fis vOJf. 

1)  

 

 

 

 

 

 

ghlg;Gj;jfj;jpy; 34 Mk; gf;fj;jpYs;s gapw;rp 3.3 Ig; G+uzg;gLj;Jf. 

 

xU KO vz;iz 10> 100> 1000 vd;gtw;why; ngUf;Fjy; njhlu;ghf ghlg;Gj;jfj;jpy; 34 
Mk; gf;fj;ij ed;whff; fw;Wf;nfhs;sTk;.  

 

xU KO vz;iz 10> 100> 1000 vd;gtw;why; ngUf;Fk; NghJ fpilf;Fk; tpilahdJ 
mt;ntz;zpd; ,Wjpapy; ,lg;gLk; G+r;rpaq;fspd; vz;zpf;if %yk; tpsq;fpf;nfhs;f.   

 

 fPOs;s ml;ltizia epug;Gf.  

 

3 x 10 30 

7 x 10  

2 x 100  

15 x 100  

2 x 1000 2000 

8 x 1000  

13 x 1000  

 

ghlg;Gj;jfj;jpy; 36 Mk; gf;fj;jpy; cs;s gapw;rp 3.4 ,d; %d;whtJ tpdhitr; rupahfg; 
G+uzg;gLj;Jf. 

 ,U vz;fisg; ngUf;Fk; NghJ rpwpa vz;zhy; 
ngupa vz;izg; ngUf;f Ntz;Lk;. 

 

24 

3x.......

.. 8x.......

.. 

.....x6 

...x......

... 
4x........

. 

 

12x......

... 

 

2x........

. 

 

 

18 

3x......

... 1x......

... 

...x.....

.... 6x.......

.. 

 

9x.......

.. 

 

2x.......

.. 

 



 

 m/sir 

xU KO vz;iz kw;WnkhW KO vz;zhy; ngUf;Fjy; njhlu;ghf ghlg;Gj;jfj;jpy; 35 
Mk; gf;fj;ij ed;whff; fw;Wf;nfhs;sTk;. fPOs;s cjhuzq;fisAk; tpsq;fpf; 
nfhs;f. 

  

 

 

 

ghlg;Gj;jfj;jpy; 36 Mk; gf;fj;jpYs;s gapw;rp 3.4 ,y; 1> 2> 4> 5> 6> 7 Mk; tpdhf;fisr; 
rupahfg; G+uzg;gLj;Jf. 

xU KO vz;iz kw;WnkhW KO vz;zhy; tFj;jy; njhlu;ghf ghlg;Gj;jfj;jpy; 37 
Mk; gf;fj;ij thrpj;J ed;whf tpsq;fpf;nfhs;sTk;.  

 <T > kPjp vd;gtw;iwj; njspthf ,dq;fhz;f.  

 

fPNo fhl;lg;gl;Ls;s cjhuzq;fisj; njspthf fw;Wf; nfhs;f 

40 ÷ 10  =   4 

500 ÷ 10  = 50 

300 ÷ 100  =   3 

8000 ÷ 100  = 80 

5000 ÷ 1000 =  5 

50000 ÷ 1000  = 50 

NkYs;s cjhuzq;fSf;Nfw;g xU KO vz;iz 10> 100> 1000 vd;gtw;why; tFf;Fk; 
NghJ gpd;gw;w Ntz;ba xOq;F Kiwia ghlg;Gj;jj;jpd; 38 Mk; gf;fj;ijf; fw;W 
NkYk; cWjpg;gLj;jpf; nfhs;f.  

fPOs;s cjhuzq;fisAk; tpsq;fpf; nfhs;f.  

 

525 ÷ 7        519 ÷ 12 

                    75                            43 

           7   5 2 5             12 519 

    49         7x7 = 49               48 12x4 = 48 

                  35           39 

      35       7x5 = 35         36 12x3 = 36 

        0              3 

 

 525 ÷ 7  = 75      519 ÷ 12  = 43 > kPjp 3 

 

 

 ghlg;Gj;jfj;jpy; 40 Mk; gf;fj;jpYs;s cjhuzk; 1 I ed;whf tpsq;fpf; nfhs;f.  

 ghlg;Gj;jfj;jpy; 40 Mk; gf;fj;jpYs;s gapw;rp 3.5 Ir; rupahfg; G+uzg;gLj;Jf. 

xU KO vz;iz kw;WnkhW KO vz;zhy; tFg;gjw;F 
neLk; tFj;jy; Kiwiag; gad;gLj;jyhk;. 

7 4 

       x    3 7 

          5 1 8   74 x 7 = 518 

       2 2 2 0  74 x 30 = 2220 

       2 7 3 8 

          1 5 3 

       x    6 5 

          7 6 5   153 x 5 = 765 

       9 1 8 0  153 x 60 = 9180 

       9 9 4 5 


